SLP &% — HE® — HiERMm

HERESIMNEERR T CHELIC.
C RBxR
=] HiE SLP-01 ‘ SLP-02 ‘ SLP-02L ‘ SLP-03 ‘ SLP-04 ‘ SLP-06 ‘ SLP-10
LE==Pink: -] =R
ERENEE kgf/cm? (kPa) 0~9(900)
{REEMIEE S kgf/cm? (kPa) 11 (1100 )
ERRESE °C 5~ 60
EZ IRER
#H B P
EEOR PT PT1/8 PT1/4 PT3/8 PT1/2 PT3/4 PT1
C SMEEFE R~
&)
Q
B
s o 5 7 SN
i EEOER A B c i
Rc (PT) H
SLP - 01 1/8” 7 34 16 14
SLP - 02 114" 10 37 16 14
SLP - 02L 14 10 62 20 16.8
SLP-03 3/8” 12 67 26 24
SLP - 04 12 15 70 28 24
SLP - 06 3/4” 16 99.3 40 315
SLP-10 1 19 119 47.8 355

8-1.23

CJ-M
SFEIEEE

MOV
FHER

CRJF
HiEen 1A

PCR
=EHEY
1EER

SA[]
IR
EES

QT
B & 28
HEREn R

SL[]
HES

PLJS
RIRIESE



SL &% — #HEH — RN

HRRIMNEBIRRT CHELIC.
C RBxR
LS| s SL - M5 SL - 01 SL - 02 SL -03 SL - 04 SL - 06
LE==Pink: -] =R
FREHEE kgf/cm? (kPa) 0~9(900)
{REEMEE 1) kgflcm? (kPa) 13 (1300)
ERREEE EC 5~ 60
] iR
og s R = p———
i JEAERER (= REAIEE 60pm )
EEOR PT M5X0.8 PT1/8 PT1/4 PT3/8 PT1/2 PT3/4
58 g 3 55 60 68
C IEEFER~
B 1
5% EEOER Hil
1= Rc (PT) s 3 H
SL - M5 M5 5 18 8
SL - 01 1/8” 6 23 12
SL - 02 1/4” 8 29 16
SL - 03 3/8” 9 35 18
SL - 04 1/2” 10 43 22
SL - 06 3/4” 10 50 30

8-1.24



SLB &% — A58 — AN

RIS RRIIVEERRT CHELIC.
C RBX
158 Pyl SLB - M5 SLB - 01 SLB - 02 SLB - 03 SLB - 04
RS =R
{FRENEE kgf/cm? (kPa) 0~9(900)
{REETIEE S kgf/cm? (kPa) 13 (1300)
ERREHE °C 5~ 60
ES: iR
p%p ) = = pE—
B JEAERER (B REEIEE 60pm )
EEORK PT M5X0.8 PT1/8 PT1/4 PT3/8 PT1/2
B8 g 3 55 60
C SMEEFER~
H \
|
| | om
\ <
|
R |
® % EEOER iz
% Rc (PT) A e H
SLB - M5 M5 9.5 8
SLB - 01 1/8” 11.4 12
SLB - 02 1/4” 8.2 14.5 16
SLB - 03 3/8” 9 16 18
SLB - 04 12 10.5 18 22

8-1.25

CJ-M
SFEIEEE

MOV
FHER

CRJF
HiEen 1A

PCR
=EHEY
1EER

SA[]
IR
EES

QT
B & 28
HEREn R

SL[]
HER

PLJS
RIRIESE



SLR &% — HiS5s — SN
HERESIMNEERR T CHELIC.

C RBxR
Ji=|=| HiE SLR - 01 SLR - 02 SLR - 03
{ERREE ZE R
fE R &6 kgflcm? (kPa) 0~9(900)
{REEMEE ) kgflcm? (kPa) 13 (1300)
{ERREEE °C 5~60
] =R
M - p R
B JERER (B REEEEHEE 60um )
EEOK PT PT1/8 PT1/4 PT3/8
E8 g 55
C NEEFER~
-
KR8 | EEOER iz
#iE Re (PT) . = c L H
SLR- 01 178" 7 7 10 38.2 9.9
SLR- 02 1/4” 9.7 7 12 446 14
SLR-03 3/8” 10 10 15 52.6 19

8-1.26



SLBR &%l — HE 8 — WM

HERESIMNEERR T CHELIC.
C RBxR
IEH s SLBR - 01 SLBR - 02 SLBR - 03 SLBR - 04
LE==hink: -] =R
{5 ER S s kgf/cm? (kPa) 0~9(900)
{REEME A kgf/cm? (kPa) 13 (1300)
EHREEE EC 5~ 60
e =5
og s R o pE——
P JEAEESR (B REEIEE 60pm )
EEOR PT PT1/8 PT1/4 PT3/8 PT1/2
8 g 55 60
C SMEEFE R~
|
H T
;|0
- |
m
<
R
8% | EmOgRr A B = 8
% 1E Rc (PT) MIN MAX H
SLBR - 01 1/8” 8 28 33 12
SLBR - 02 1/4” 9 12 30 35 16
SLBR - 03 3/8” 10 14 34 40 18
SLBR - 04 12 10 20 36 42 22

8-1.27

CJ-M
SFEIEEE

MOV
FHER

CRJF
HiEen 1A

PCR
=EHEY
1EER

SA[]
IR
EES

QT
B & 28
HEREn R

SL[]
HER

PLJS
RIRIESE



PHS %5 — RIRIESE wumpmsy

SMERERRT CHELIC.
O RIREH (AT )
W
H D
m | |
Q ﬁ /\
o} N i N S
S | N\
. —H e N
\ \
< 1 1
||| [>T
| |
s o)
N oK
S R-FAFL>EF  BEERT -
il & 2
R g s A B | O | H|W/|F D J K | L N | Sload | W
®N) | (@
PHS — 5 (RI)| M5x0.8 12 5 |77 6 | 8 | 27 | 16 9 | 1 | 4 9 5 | 18
PHS — 6 M6x1.0 14 6 |89 | 7 | 9 | 30 | 18 | 10 | 13 | 5 1 7 | 27
PHS —8F | M8x1.0 17 8 1104 9 | 12 | 36 | 22 | 13 | 16 | 5 14 | 11| 46
PHS - 8 M8x1.25 | 17 8 |104| 9 | 12 | 36 | 22 | 13 | 16 | 5 14 | 11 | 46
PHS — 10F | M10x1.25 | 21 | 10 | 129 | 11 | 14 | 43 | 26 | 15 | 19 | 65 | 17 | 14 | 78
PHS—-10 | M10x1.5 | 21 | 10 |129| 11 | 14 | 43 | 26 | 15 | 19 | 65 | 17 | 14 | 78
PHS — 12F | M12x1.25 | 24 | 12 |154 | 12 | 16 | 50 | 30 | 18 | 22 | 65 | 19 | 17 | 115
PHS-12 | M12x1.75 | 24 | 12 | 154 | 12 | 16 | 50 | 30 | 18 | 22 | 65 | 19 | 17 | 115
PHS — 14F | M14x1.5 | 27 | 14 |168 | 14 | 19 | 57 | 34 | 20 | 25 | 8 | 21 | 24 | 170
PHS — 14 | M14x2.0 | 27 | 14 |168 | 14 | 19 | 57 | 34 | 20 | 25 | 8 | 21 | 24 | 170
PHS —16F | M16x1.5 | 33 | 16 | 193 | 15 | 21 | 64 | 38 | 22 | 27 | 8 | 22 | 28 | 230
PHS — 16 | M16x2.0 | 33 | 16 |193 | 15 | 21 | 64 | 38 | 22 | 27 | 8 | 22 | 28 | 230
PHS-18 | M18x1.5 | 36 | 18 |218 | 17 | 23 | 71 | 42 | 25 | 31 | 10 | 27 | 35 | 320
PHS-20 | M20x1.5 | 40 | 20 |243 | 18 | 25 | 77 | 46 | 28 | 34 | 10 | 30 | 40 | 420
PHS —22 | M22x1.5 | 43 | 22 |258 | 20 | 28 | 84 | 50 | 30 | 37 | 12 | 32 | 52 | 540
PHS — 24 | M24x2.0 | 48 | 25 |296 | 22 | 31 | 94 | 56 | 34 | 42 | 12 | 36 | 60 | 750
PHS - 26 | M26x1.5 | 36 | 25 |296 | 22 | 31 | 94 | 60 | 34 | 42 | 12 | 42 | 60 | 940
PHS - 30 | M30x2.0 | 56 | 30 |348 | 26 | 37 | 110 | 67 | 40 | 50 | 15 | 41 | 81 | 1130
PHS - 36 | M36x2.0 | 80 | 35 |42 | 21 | 25 | 125 | 80 | 47 | 57 | 19 | 55 | 81 | 1300
PHS - 1/4 1/4-28 UNF 14 6.35 8.9 7 9 30 18 10 {IS] 5] 11 7 27
PHS - 5/16 |516:24 UNF| 17 | 7.94 |104 | 9 | 12 | 36 | 22 | 13 | 16 | 5 14 | 11 | 46
PHS - 3/8 |3/824 UNF| 21 | 953 | 129 | 11 | 14 | 43 | 26 | 15 | 19 | 65 | 17 | 14 | 78
PHS —1/2 |1/220 UNF| 24 |12.70 | 154 | 12 | 16 | 50 | 30 | 18 | 22 | 65 | 19 | 17 | 115
PHS - 5/8 |5/8-18 UNF| 33 |1588 | 193 | 15 | 21 | 64 | 38 | 22 | 27 | 8 22 | 28 | 230
PHS - 3/4 3/4-16 UNF 36 19.05 | 21.8 17 23 71 42 25 31 10 27 35 320

8-1.28



POS &%l —

FIRIREE wmmsmme)

SVERER R CHELIC.
C RIR#EE (4 F)
W
H
a2} ’ |
S
o) I S
1 I N
—
| [T
<
L
L i
HR-AF LER; EEEAF -
far B 2
it S A B (0] H w D F S.load w
(KN) @)
POS - 5(RL) | M5 x 0.8 20 5 7.7 6 8 16 33 5 14
POS - 6 M6 x 1.0 22 6 8.9 7 9 18 36 7 21
POS - 8F M8 x 1.0 25 8 10.4 9 12 22 42 11 34
POS - 8 M8 x 1.25 25 8 10.4 9 12 22 42 11 34
POS - 10F | M10x 1.25 29 10 12.9 11 14 26 48 14 58
POS - 10 M10x 1.5 29 10 12.9 1 14 26 48 14 58
POS - 12F | M12x 1.25 33 12 15.4 12 16 30 54 17 92
POS - 12 M12 x 1.75 33 12 15.4 12 16 30 54 17 92
POS - 14F M14x 1.5 36 14 16.8 14 19 34 60 24 135
POS - 14 M14 x 2.0 36 14 16.8 14 19 34 60 24 135
POS - 16F M16 x 1.5 40 16 19.3 15 21 38 66 28 205
POS - 16 M16 x 2.0 40 16 19.3 15 21 38 66 28 205
POS - 18 M18 x 1.5 44 18 21.8 17 23 42 72 35 285
POS - 20 M20 x 1.5 47 20 24.3 18 25 46 78 40 370
POS - 22 M22 x 1.5 51 22 25.8 20 28 50 84 52 475
POS - 24 M24 x 2.0 57 25 29.6 22 31 56 94 60 650
POS - 30 M30 x 2.0 66 30 34.8 26 37 67 110 81 1070
POS - 1/4 1/4-28 UNF 22 6.35 8.9 7 9 18 36 7 27
POS - 5/16 | 5/16-24 UNF 25 7.94 10.4 9 12 22 42 11 46
POS —3/8 | 3/8-24 UNF 29 9.53 12.9 11 14 26 48 14 78
POS - 1/2 1/2-20 UNF 33 12.70 15.4 12 16 30 54 17 115
POS - 5/8 | 5/8-18 UNF 40 15.88 19.3 15 21 38 66 28 230
POS - 3/4 | 3/4-16 UNF 44 19.05 21.8 17 23 42 72 35 320

8-1.29

CJ-M
R

MOV
FHER

CRJF
812

PCR
=EHEY
1EER

SA[]
IR
EES

QT
B & 28
HEREn R

SL[J
HES

PLJS
RIRIESE





